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B. Com. (Part IT) EXAMINATION, 2020

(Group—III : Applied Economics)
Paper First
BUSINESS STATISTICS
Time : Three Hours

Maximum Marks : 75
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Attempt all the five questions. One question from each

Unit is compulsory. All questions carry equal marks.

1. “}ifegdl va fasme 761 & 98 e duite fafy 817 39
TR BT AHTAD [qda Iy TR Fikgd! & &3
Td AR B WK HIfY |
“Statistics is not a Science, it is a Scientific method.”

Discuss it critically and explain the scope and limitations

of Statistics.

A-14 P.T.O.

https://www.hyvonline.com



[2]

3rrar
(Or)
frforfiad w¥al & Aitadr td §AWR AT df Tl
PIFAY

3id (W TH) faenforal @ e
10 20
20 44
30 76
40 104
50 126
60 144
70 182
80 192
90 200

Calculate median and arithmetic mean from the following

data :

Marks (below) No. of Students

10 20

20 44

30 76

40 104
50 126
60 144
70 182
80 192
90 200
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(UNIT—2)
2. TP Gedlad w3 § & dHl A 3R B gN fafe #ui H
fey M Ml @ W T yar off| sarsy aE-d dW
30 yevE H 3ifdre |d @

NN el Y Gt q
U Gedid d9 ¥ {6y 1Y -
Tl &\
M A ¥ B
0 27 17
1 9 9
2 8 6
3 5 5
4 4 3

The following table gives goal scored by two teams A and
B in a football session. Find the team which is more
consistent in its performance :

No. of football matches
No. of goals scored in a played
match
Team A Team B
0 27 17
1 9 9
2 8 6
3 5 5
4 4 3
A-14 P.T.O.
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3prar
(Or)
freforiaa st seq & weae Ofd g A1 | uRa
T AN R FId I

AR (x) SR ()
4 2
8 2
12 1
16 4
20 1

From the following frequency distribution, compute first
four moments about the mean by direct method :

Size (x) Frequency (f)

4 2

8 2

12 1

16 4

20 1

FhIE—3
(UNIT—3)
3. swfoflad <8 wAl o R T am & w9y RugedT o

Pife AEFHE NS T B :
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T CEd] AT
A 50 11
B 50 13
C 55 14
D 60 16
E 65 16
F 65 15
G 65 15
H 60 14
I 60 13
J 50 13

Find the Spearman’s rank coefficient of correlation

between sales and profits of the following ten firms :

Firms Sales Profit
A 50 11
B 50 13
C 35 14
D 60 16
E 65 16
F 65 15
G 65 15
H 60 14
I 60 13
J 50 13
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JIAr

(Or)
7 W@ H < AT B ANT F YD g o e
3iids g g -

TTHET (FOIRI H) ST el @l |
(x) »
11 15
14 27
14 27
17 30
17 34
21 38
25 46
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P |

An investigation into the demand television sets in
7 towns has resulted in the following data :

Population (in thousands) | No. of TV Sets demanded
(x) )
11 15
14 27
14 27
17 30
17 34
21 38
25 46
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Calculate regression equation of y on x and estimate the
demand for TV sets for a town with a population of

30 thousands.
TPE—4
(UNIT—4)

e & v @ wHs 8 ? T o @y fafis
faferai 1 wHeEy |
What do you understand by Index Numbers ? Explain
various methods of computation of index numbers.

3RIar

(Or)
fferiaa et @ SER R =gAa9 a7 Afd & I
TR N B AN DB MUAT DY TR Iufe Heiia
DI

ay 7 (% H)
1951 107
1952 110
1953 114
1954 114
1955 115

From the following table, find the slope of a straight line
trend by the method of least square and fit the trend :

Year Price (in %)
1951 107
1952 110
1953 114
1954 114
1955 115

P.T.O.
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(UNIT—S5)
5. 8 TYgd Ua RISV O &, WIS AT BTy b :

() P99 B8 U Riger B v
(i) TP A Rrapr e 9 s
(i) g e o o
8 coins are thrown simultaneously, find the chance of
obtaining :
(1) At least one heads
(1) No heads
(111) All heads

3ar

(Or)
A qaAE P 941 3R © ? WU § IEEidD
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What is meant by Business Forecasting ? Explain briefly
the main methods used in Business Forecasting.
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